WRITE DOWN ALL YOUR WORKI!!

Part 1
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1. A sample is taken for chemical analysis. Which of the following must be done
before the sampling 7 ...........oovr i
a) interpretation
selection of analytical procedure > . 7
¢) elimination of interferents 0:3
d) analysis

2. What is SI unit for number of objects (amount of
substance)............. 4; ..............................

5. List steps in chemical analysis......................
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4. How many cubic centimeters are in one cubic meter.............. é
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5. What is the mass of 1cubic centimeter of a liquid that has density of
133gfem®.......
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6. Whatisanalyte................ooiiiiii J
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7. What is the formal concentration (expressed in M=mol/L) of NaCl when 32g are
dissolved in water and diluted to 0.500L.....................
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9. 'What is the concentration of hydrogen ions, [H'], in & solution that has pH-5-16 E
.................. - g I 6 o ™

10. Describe how would you prepare 250mL of approximately 0.10M solutioii"‘b‘f‘NHi»,‘”"”‘”""""""""”"'"M-
if you have a stock solution of concentrated NHz of 14.3 M
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11. What is aligout i
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12. What is standard _
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13. What is blank titration, gravimetric titration, spectrophotometric titration? o
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14. What is equivalence point what is end point of titration?
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15. What definitions of acid and bas you know (give two)? How do we call electron %‘% ‘i%

donor in Lewis definition?
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16. What method of analysis does your textbook suggest for the analysis of nitrogen?
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PART 2

1. Find the products, identify their physical state (g, aq, s ..) and balance the
reaction:

If a solution containing 3.50g o(ﬁag‘]?()‘;}nd another solution containing 6.40g of
(Ba(NOs), are mixed, how many grams of the produced Ba salt can be formed?
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2. How many grams of HsPO, are in 175.0mL of a 3.5M solution of HzP04(aq) ?
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gy %" 3. What volume (mL ) of a concentrated solution of LiOH (6.00M) must be diluted
V[ = 1S1 to 200mL , to make 1.5M solution of LIOH?
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4. Tn a titration process, what volume (in L) of 0.250M HNO; is required to
neutralize (end point) a solution prepared by dissolving 17.5 g of NaOH in 350mL

of water?
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5. Calculate the pH of a buffer solution which has a concentratlon of 0.104M of the
base NH; and 0.259M of the salt NELCL Kb = 1.8 10” for the base NH;,
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6. An aqueous solution of calcium hydroxide has a pH = 10.3 . What is the
concentration of Ca{OH),?
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